Twod sifefe (el WG 8 fFefaa(Tcee-08)

1 2 1 X
)A= (—2 1 0), X = (y)
1 0 1 z

) A TGAB swewfs e amE w1 (1) A Ffr s |

2
(e A'X =<5> 2o X WG Fefa s |
4
3 5 2
(Q)A:<4 -3 —4>
6 1 -—1

() det(A) ¥ (3,1) S ST W ey 7 |
(¥) ™Ae W 2B3 + 8B,1 — 2Bz, + 4B;, = 0 @I B;; T (i, ) ©F $feq 7Ree< |

(h AB=BA =1 T A @I ffa a7 |

oo Aifehe (Jereiet) G ¢ felfas(Tces-o8)

1 2 1 x
(b)A=<—2 1 0),X=<y>

1 0 1 z
@) A TG Srerwife ey ot amR 991 (1) At s |

2
(N A*X =<5> A X WG’ s |
4

3 5 2
© A= (4 s _4)
6 1 -1
(F) det(A) @3 (3,1) ©F SRR T e w7 |
(¥) TS T 2By 3 + 8B, — 2B3, + 4B,, = 0 (@A B;; T (i, ) ©F $feq 7S |

(*Hh AB=BA =1 T A3 a7 |



